Further Practices


Further Practice 13.1

Basic
1. In the figure, QRS is a straight line and 
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Ð

PRQ = 90°.
Calculate the
(a) length of PS,
and






(b) length of QR.



2. In the figure, PR = 2.5 m, QR = 2 m and 
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PQR = 90°. 
Find the

(a) 
the length of PQ,

(b) 
the perimeter of triangle PQR, and
(c) 
the area of triangle PQR.


Intermediate
3. A triangular field ABC has a right angle at B. The length of the longest side is 60 m. One of the remaining sides is 52 m. Find the
(a) length of the third side, correct to the nearest metre, 

(b) perimeter of the field, correct to the nearest metre, and
(c) area of the field, correct to the nearest square metre.
4. A plot of land is in the shape of a right-angled triangle ABC where AB = 10 m, AC = 20 m, 
[image: image3.emf]


∠










Ð

BAC = 90o. Find, correct to 3 significant figures
(a) 
the length of the longest side, 

(b) 
the perimeter of the plot of land, and
(c) 
the area of the plot of land. 

Challenging
5. The figure shows a triangular field LMN with LN = 120 m and MN = 100 m. A tree T grows on the side LN such that MT is perpendicular to LN. The distance of T from N is 50 m.
Find, correct to 3 significant figures
(a) the distance of the tree from M,





(b) the perimeter of the field, and






(c) the area of the field.
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Further Practice 13.2

Basic
1. The area of rectangle ABCD is 2400 cm2. It is given that AB = 80 cm.

Find the
(a) perimeter of the rectangle, and
(b) length of a diagonal of the rectangle, correct to 1 decimal place. 

2. The length of a rectangle is 82 cm and its diagonal is 1.1 m.
(a) Find the perimeter of the rectangle

(i) in cm, to the nearest cm, and



(ii) in m, to 3 significant figures.


(b) Find the area of the rectangle
(i) in m², to 3 significant figures, and

(ii) in cm², to the nearest cm2.
Intermediate
3. The diagram shows trapezium ABCD. AB is parallel to DC and AD is perpendicular to AB. 
If AB = 10 cm, BC = 5 cm and CD = 13 cm, find
(a) the perimeter of the trapezium, and







(b) the area of the trapezium.








 
4. The diagram shows a field in the shape of trapezium PQRS where 
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Ð

QPS = 
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Ð

PSR = 90°. 
Given that the area of the field is 4400 m2, PQ = 100 m and PS = 40 m, find

(a)
the length of SR, and
(b)
the perimeter of the field.  


Challenging
5. The figure is made up of a right-angled triangle ABE with the right angle at B and a parallelogram BCDE. It is given that AE = 24 cm, EF = 3 cm, 
CD = 20 cm and DF is perpendicular to BE. The area of the parallelogram is 120 cm2. Find the
(a) length of AB and DE, correct to 1 decimal place.

(b) perimeter of the figure, and






(c) area of the figure.







Further Practice 13.3

Basic
1. The diameter of a circle is 26 cm. Taking 
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 = 3.142, find, correct to 3 significant figures,
(a) the circumference of the circle, and






(b) the area of the circle.
2. A piece of wire of length 88 cm is bent to form a circle. Taking 
[image: image8.emf]


π










p

 = 
[image: image9.emf]


 



22
7










 

22

7

, find
(a) 
the diameter of the circle, and 

(b) 
the area of the circle.  

Intermediate
3. The diagram consists of a rectangle and a semi-circle. It is given that AB = 6 cm and BC = 20 cm. Taking 
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p

 = 3.142, find, correct to 3 significant figures,
(a) the perimeter of the figure, and 




(b) the area of the figure. 





Intermediate
4. The figure consists of a semi-circle atop a rectangle. It is given that AF = BC = 90 cm and AB = BE = EF.  Taking 
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p

 = 3.142, find, correct to 3 significant figures
(a)
the perimeter of the figure, and   

(b) 
the area of the figure.  



Challenging
5. The figure is made up of right-angled triangle ABD, semi-circle AED and quadrant BCD. It is given that AB = 2.8 m and BC = 2.1 m. Taking 
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p

 = 3.142, find, correct to 3 significant figures
(a) the perimeter of the figure, and





(b) the area of the figure. 
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